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-~ a pressure of 1.01325 bar and a
stant pressure until its volume doubles.
further so continued heating causes the
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a displacement volume of 6430 m? i, Sea water of density 1025 kg/m?.

 bottom tanks each measuring 12.5 m |
‘equally, one either side of the cehggglrn:.s Rl T
 are now completely filled with heavy fuel oil of density 968 kg/m’.

ie change in position of G, in both magnitude and direction, given

jal KG = 3.8 m. (10)
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a) Temperature is a measure of the vibration of the atoms of a material, as this increases the atoms vibrate
more, and take up more space as they move around, resulting in an expanding of the overall material.
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specific heat capacity is the amount of energy in joules required to raise the temperature of 1kg of steel by
1°C.

Enthalpy of fusion of a material is the amount of energy required to bring about a phase change from a solid to
a liquid of steel.
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The formulas are different
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Specific heat capacity occurs while steel is in its solid form, changes of temperature are sensible (can be
sensed, measured) it also has a comparably low value of 480J/KgK. Specific heat capacity is a measure of
how temperature conductive a material is, the lower the value, the more conductive. Copper is lower than steel
and is therefore more conductive. Water has a higher specific heat content than steel, so it's better for holding
on to heat energy.

Enthalpy of fusion is changing the state from a solid to a liquid or vice versa, its a very high value in
comparison to specific heat, it has a value of 247,000 J/kg (omg!) As the energy is injected into the system, it
spreads out over all the steel atoms. Such a high amount of energy is required in comparison to the specific
heat capacity as this heat actually changes the layout of the substance. In the case of steel, breaking its giant
lattice structure, and turning it into a liquid, that requires a LOT of energy!

Specific heat is just making the atoms/molecules vibrate faster
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this is a 2 step problem, first we must heat the steel to melting point,
b then we must melt the steel
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h=\ C=r O=1¢ A =157 oxgad

as the question does state the mass of the fuel to be burnt, we will assume 1Kg.
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a) When the switch is open, the circuit is not complete. The 30v reading on the voltmeter is showing the emf of
the battery.
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When the switch is closed the battery is now under load, and the new potential difference across the terminals
is 26.67Volts, showing a 3.33 voltage drop due to the internal resistance of the battery.
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RES in series R1 and R2
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@ RES over series section R5 R4 R7
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how is current split over parrallel section R6 and R3?
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voltage drop over R4 and R6
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volume of wood = volume of water displaced
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